TRIVEE W/NIFIRYME (PM2.5) Ao BIEHER

REGF:BE=TRH(BARK)

25 4R %ifﬂf AAVES (g /m®)
c | No; | so” [ Na* | NH, K | Mg | ca®

5= BX{E 346| 014 052 16| 034 57 0069 0.030] 0.094
H30/5/9 | B/MiE 35[<0.0011| 0032 088 0038 0.22|<0.0090(<0.0042|<0.0043
~5/23 T 1{E 118| 0031 o028 39| 012 14| 0.029| 0.0061| 0.024
2= BX{E 299 0069 025 11| 045 39 0086 0.032] 0.060
H30/7/19 | B/ME 5.7[<0.0020| 0.039 14| 0093 0.37/<0.0053|<0.0033|<0.0074
~8/2 T 1{E 12.6| 0.0124| 0.083 40| 020 13| 0.044| 0011 0013
VS BXIE 140| 026 058 38| 028 14| 0.3 0028 o0.088
H30/10/18| /M 41| 0014| 0076/ 085 0053 0.30{<0.0058/<0.0039| <0.015
~11/1 T 14{E 88| 0047| 026 21| o012 075 0067| 0.0056| 0018
2F BX{E 148| 0.10 2.4 31 023 17 0.13[ 0031 025
H31/1/17 | B/ME 26| 0017] 0074] 079] 0065 0.26/<0.0098|<0.0051|<0.0078
~3/31 {8 82| 0048 092 22| o012 095 0067| 0.0069| 0.035
25 HA RS FEHETER (ng/m?)

Na Al Si K Ca Sc Ti \% Cr Mn Fe Co Ni Cu Zn
5= BX{E 230] 180| 1900 140 110 0.033 13 9.6 1.1 89 200 o0.11 34 40 34
H30/5/9 | B/ME 16 34 31 6.5 4.8| <0.024 17| <o0.18| <o.18| <0.17 46| 0004 <0.13| <0.088[ 0.67
~5/23 T 1{E 84 51| 612 53 31| 0.00 55 27| 044 3.2 67| 0036 0.91 15 12
23 BX{E 340 21| 2800 83 36| 0016 35 5.0 1.2 3.0 44| 0.034 1.8 28 17
H30/7/19 | B/ME 73 53| <86 22 12| <0.011| 095 092 o021 05 8.9<0.0077| 031| 048 26
~8/2 T 1{E 155 14| 604 38 20 0.0 2.1 26| 048 1.7 26| 0017| 092 14 8.6
S BX{E 200 230( 1800[ 120[ 130 0.049 13 20 1.9 55( 180 0.068 1.2 30 22
H30/10/18| /M 33 7.2 14 17 6.8 <0.014 12| 022] o013 065 11[<0.0077| o021 035 1.9
~11/1 T 1{E 80 58| 379 65 36| 0.0076 42| 095 0.8 3.2 72| 0029 o058 1.6 11
2F BX{E 180 43| 680 160 180[ <0.018 4.1 2.0 14 89 110| 0.054 13 44 39
H31/1/17 | B/ME 55| <438 30 1 11| <0.018| 041| <0.16| <0.33| <0.31| <2.8[<0.0053] <0.12| <0.29 1.2
~3/31 {8 108 23| 241 76 44| <0.018 21| 069 043 33 46| 0025 047 1.6 14
25 HA RS FEHETER (ng/m?)

As Se Rb Mo Sb Cs Ba La Ce Sm Hf W Ta Th Pb
5= BX{E 12 13| 047 1.6 1.8 0.052 86| 057 13| 0.18] 053 4.1(<0.0029| 0.4 6.7
H30/5/9 | B/ME | <0.054| <0.12| <0.025| <0.017| 0.035[<0.0045| <0.24| <0.015| <0.018{<0.0098| <0.022| <0.017|<0.0029(<0.0018| 0.20
~5/23 T 1{E 041| o028 o016 o044| 067 0019 19| o0.14| 031 0014| 0038 1.1/<0.0029| 0.033 2.9
2= BX{E 2.2 13| o012 o057 17| 0.041 29[ 0062 o0.11[<0.0053] 0.015 5.5(<0.0029| 0.021 5.1
H30/7/19 | B/ME 0.13| 0.18] 0023 0099 0093| <0.016] 043 0.012| 0.016/<0.0053|<0.0042| 0.040/<0.0029(<0.0017| 052
~8/2 T 1{E 054 o051| 0067 o028 048] 0004 1.3| 0.032| 0.048[<0.0052| 0.0014 1.2/<0.0029| 0.0032 2.1
EYES BX{E 17 11 053] o068 15[ 0.060 28| 021] o047] 0015 0013 7.4| 0.0036] 0.047 12
H30/10/18| /M 010/ o0.11| 0082 0041 0.12| 00089 0.37| 0.0097| 0.021/<0.0096|<0.0068| 0.024|<0.0030| 0.0029 1.0
~11/1 T 1{E 0.75| 059 023 o033] 069 0031 15 009 0.19] 0.0011| 0.0031 1.3| 0.0003| 0012 5.4
2F BX{E 19 14| 048] 093 12| 0.060 30[ 0066 0.20[ <0.020] 0011 032 <0.023] 0.021 16
H31/1/17 | B/ME 0.18| <0.084| 0038| 0.017| 0.072|<0.0088| 0.15/<0.0065| <0.016| <0.020|<0.0015(<0.0099| <0.023| <0.014 18
~3/31 {8 090 o051] o020 035 057 0025 1.1 0.017| 0052| <0.020] 0.0036| 0.11| <0.023| 0.0088 6.2
=25 HA RS RERD (e /m)

oct | oc2 | ocs | oca [ocpyro|] ECT | EC2 | EC3 | ©OC EC
5= BX{E 0.29 17 12 077 099 14| 077] o011 48 13
H30/5/9 | B/ME 0077| 043 027] o0.12| 0083 0093 0.067 0 1.1 0.077
~5/23 T 1{E 0.17 10| o067 o040 053] 069 039 0046 28| 059
23 BX{E 0.25 26 12[ 091 2.0 1.7 12| o.10 7.0 1.0
H30/7/19 | B/ME o o042 0370 o017 o012] o014 o0.11 0 1.1 o010
~8/2 T 1{E 0.10 12| o072| o043 o068 066 045 0057 32| o049
EYES BXIE 0.21 11 o092 o051 o069 096 056 0075 33 1.0
H30/10/18| /M 0.14| o047 o026 o0.18] o013 o0.18] 015 0015 12| 022
~11/1 T 1{E 017 o075 o057 o036] 044 063 037 0.051 23| 061
2F BXIE 028/ 090| 074 059 085 1.4[ 050 0.061 33 1.1
H31/1/17 | B/ME 0.13| o030 o018 0087 o012 o0.16] 0078 o] o082 o012
~3/31 {8 019 o058 039 o030] 047 o071] 027 0028 19| 055




